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ffi:T.T1lIl,,..n",,.Questions.Readthequestionscarefullyandselecttlremostappropriate
answer for each question(choose only @ answer)'

1. which of the fo[owing is not a characteristic of 6. Extra capacity nsed to offset demand uncertainty

service operations? 
is known as: 

capacity
a) high customer contact 

a) Safety stock capacity

b) intangible output 
b) Capacity cushion

c) easy t.urt'i"fitnt of productivity c) Capacity margins

d) low unifbrmity of output 
d) None of the above

2 . , ,Exac t l y t hecapac i t yand func t i ona t i t yT ,G i ven tha te f f ec t i vecapac i t y=S0un i t spe rday "
needed, exactly when needed";This 

Jt'ign capacity = 100 units per day' and

expression refers to :tt 
ttitiiution = Agoh,what would efficiency be ?

a) Flexible tvtanufacturing Systems 
&) 48%

b) ceuurar il'fYi;:j*i;"q:,i:::1.,o*o*. :] 
urloY)

v l

;; n..onngutable Manufacturing Systems 
;j N"o", ort*'. above

d) none of the above 
8, which of the following aims to. eliminate

3. which of the fo'owing does not relate to defects by preventing or detecting human-

system design?, 
":-_:_:'^":,t, :;i::1".1'rrors?

^: Changing the sYstem caPacitY

b) lnventory management ^ :-*^-* 
O) Poka-yoke

c) Selection u"Ju"?"itition of equipment c) SMED

d) Physical u"*f"*tnt of departments d) Kanban

4 Heuristic approaches used for line balancing 
s 

*ff"rii;:tai'J'dJ?.T in'.il*l:1i.1i,1"t.,,
wi l lguaran t . "oc tu i " inganop t ima lso lu t ion . l .2minu tes ,and l 'Tminu tes 'Themax imum

a) True 

uvLs''rrb 

"yrt",i*" 
and the minimum cycle time equal'

b) False ui I .7 and 0.4, respectively'

5. A process layout problem consists of 5 b) 3'3 and 0'4 respectively'

departments, each orwhich."i o. +1?l:-1j: :] 
,"i,,:*i,l,:.'0':t'u''' 

, ., - -^-^+i^-o
;ilffi; locations' The number of,different r o. i'rt. g;orping of equipment bv.th,.e optt-ui-ol''

;;l;", alternatives to be considered equals 
'"' 

n..aZa to pe-rrormiimilur work for part families

a)25  i s :
b) 120 a) Product laYout
c) 3125 b) cellular laYout
d) None of the above c) functional layout

d) retail laYout

il

I
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I

,., rr:i::tlcomparison between Job shop and repetitive processing with respect to the following: (4 marks)

Labor skills required i'
- SchedulingcomPlexitY
- Work-in-ProcessinventorY

o n",u,l"l,"':ffil::n"l*,"'"r war{r,o;1::,::il:,1::T::n:f-n berow rhe companv wants to locate
e) 

ll#Hlil';Hffit"' "",ii* 
r" serve this warehouse network'

Location (x, y)

wHl
wH2 a n

WH3
wH4
wHs 8,7

to each warehouk*ftkhffimately equal, what is the optimal location for

t6e aistriUution center? (2 marks) --.:,r L^. u/rrt 100: WH2. 150; WH3, 120; WH4, 150; and

11._1':fif;;1il:n:1:i"Tffiarouse wilr be: wH1, 100; wH2, 150; wH3, 120; wH4',

wH5, 120. what t' * *i*ailocation oiin" distribution center? (2 marks)

ffi|l,,#il[:Lt,x*'^}i:i:#"":}1TjTiJll*llHl#Tisjff.:'rlJhoursaday.
and its target is to-meei u ,cn.arri.'of 40 units p., auy. The tasks n...rrury to produce this product are

1 1 .

detailed in the table below'

(4 marks)

D etermine the minimu m numb er. o f ,works9l:: " #il;l;
?:5il ilk'ltT:lgil#[TtT6l if#::'"Hlll 

or ro rl owi n g tasks u s e r o n g e s' * T #i ii'"'Asslgn rasKs tu *'"':':;; 
-:,-* o"",t*" indifference in choice'

u, uii.btauker. If ties still exist'.?ssYme ----r ̂{.n^ion^., nf rhe a
A*',I1ffi i; jl,t1t",i#;#hi;r*.unJ.rn.iencvortheassembrvrine'

Task lmmediate
Predecessor

Task Time
(in minutes)

A 10

B A l l

C B 5

D B
A

E A t2
F C,D

a
J

G F
,7

H E t1

I G,H 3
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il::};[#'J'i#'l'#::'f 
'J'xft men'{ion

at reast one ot tnese, TiJ"ti:1,:*i"tn"lt""r.orr, .. n .- --,.c\rt reast one oI'It'br' 
"Tin" 

r"ilbyl1?::";:fli;u. (r0 marks)

ililJ *:?ffilll':';i;; ;t*'' kantan'

euestion 4 (20 marks) 
r -r^-onrre.t demand.Specify in which case MRP is appropriate?

a)Differentiatebetweenindependentandclependentdemand.Specifyinr(5 marks), inpurs gr.l YII1;|:p;, |1 iliil:]b) ldentify 11,n. foltowing proouct-tree: (4 marrs, 
,

c) Referring to tne rrrrrrv Yr r'p r 
l

,
A(2) B(3) c(4)

r-L-l *

,eeded,rl::;ff il"Lr,:l;"::ir*:sii*,:;?il,l;isl:i"JJllliT:5:l
ii. If 17 Ps are needed' and on-nanc *

,, 

".J;J,:" 

ffi"*, 
record for an item X, if vou are given the rollowing: (8 marks)

Lead times tor ̂ -; i.";: ^r 40|:?HFJ :y *';3':13'* fi o" 
",,,Beginning inventorY -

= = = = == = = == == == === = = == ='.-= = = = = = = === == = =-- = - = = === = == = = = ilt*t*s=======--=====--==--==--================-=========--======Wal''ul044r a'ianor

Dn, 1waanaTla*

c)
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